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 1. Who describe Kerala as a paradise of fools where everyone was happy in his 

ignorance, in his superstition and his age long social bondage ?

 A) Sahodaran Ayyappan  B) Kumaranasan

 C) Swami Vivekananda   d) V. T. Bhattathiripad

 2. Who forwarded the term Cold War in 1945 to mention the diverging interests of USA 

and Soviet Union ? 

 A) Winston Churchill   B) George Orwell

 C) Vladimir lenin   d) George F. Kennady

 3. Who suggested that the Congress was a product of lord dufferin’s brain ?

 A) lala lajpat Rai   B) Bal Gangadhar Tilak

 C) Gopal Krishna Gokhale d) dadabhai Naoroji

 4. Which port in China was considered the only authorized port for international 

exchange unit in the mid-19th century ?

 A) Shanghai B) Canton C) Shenzhen d) Hong Kong

 5. What played leading role in India’s foreign policy, in the context of Cold War 

confrontation ?

 A) ASEAN B) SAARC C) NAm d) IORA

 6. Which city is declared as the First City of literature in India by UNESCO ?

 A) Calcutta B) Bombay C) Kottayam d) Kozhikode

 7. Which among the following atmospheric layers is the densest ?

 A) Thermosphere B) Stratosphere C) Troposphere d) Ionosphere

 8. Which among the following layers of the earth’s interior is solid ?

 i. Outer core

 ii. Inner core

 iii. Upper mantle

 iv. lower mantle

 A) i and iii B) ii and iv C) ii and iii d) i and ii
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1. A³fp]sOU AÌv]w~Ly¾]sOU WLs°tLpOç yLoPz]W Aa]o¾¾]sOU IsæLvqOU 
yÍOìqLp]qOÐ SWqtR¾ v]cVd]WtORa krOh}y IÐV BqLeV v]Swx]Õ]ÞÿfV ?
A) ySzLhq¢ AáÕ¢  B) WOoLqjLwL¢
C) y~Lo] v]SvWLjÎ¢  d) v]. a]. nŸf]q]ÕLaV

2. pOIyVIpORapOU SyLv]pãV pPe]pR£pOU fL¤Õq|°¥ fÚ]sOç v|f|LyR¾ 
kqLo¡w]¨L¢ 1945&¤ BqLeV w}fpOÈU IÐ khU oOSÐLŸOvÞÿfV ?  

A) v]¢ð¦ Þ¡Þÿ]¤  B) S^L¡²V KL¡Rv¤

C) væLc]o]¡ Rsj]¢   d) S^L¡²V F. RWÐc]

3. clr]¢ NknOv]R£ fsSÞÿLr]R£ D¤ÕÐoLeV SWL¦NYyV IÐV BqLeV j]¡SÇw]ÞÿfV ?

A) sLsL s V̂kfV rLpV  B) mLsYUYLiq f]sWV

C) SYLkLsWQxVe SYLXRs d) hLhLmLpV jvSrL^]

4. kR¾L¢kfLU jPãLº]R£ oi|UvRq AÍLqLNìL v]j]op¾]jOç JW AUY}WQf 

fOroOXoLp] RRÞjp]Rs JfV fOroOXoLeV We¨L¨RÕŸ]qOÐfV ?

A) xL‚VzLpV B) WL£¦ C) Rx¢Rx¢ d) SzLSËLUYV

5. w}fpOÈWLsR¾ JãOoOŸs]R£ kéL¾s¾]¤ CÍ|pORa v]Shwjp¾]¤ SjfQf~ 

kqoLp kËV vz]ÞÿfV IÍLeV ?

A) ASEAN B) SAARC C) NAm d) IORA

6. CÍ|p]Rs Bh|R¾ yLz]f| jYqoLp] pORjyVSWL NkX|Lk]Þÿ jYqU JfLeV ?

A) RWL¤¨¾ B) SmLURm C) SWLŸpU d) SWLu]S¨LaV

7. fLRu krpOÐ AÍq}ƒ kLt]Wt]¤ JãvOU yLNÎf WPa]pfV JfLeV ?

A) Rf¡SoLó]p¡ B) Ny›LSãLó]p¡ C) SNaLSÕLó]p¡ d) ApSeLó]p¡

8. nPo]pORa D¥nLY¾Oç fLRuÕrpOÐ kLt]Wt]¤ JfLeV XqLvòp]sOçfV ?

i. kOrU WLÒV

ii. AW WLÒV

iii. oOWt]Rs BvqeU

iv. fLuR¾ BvqeU

A) i and iii B) ii and iv C) ii and iii d) i and ii
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9. The largest mangrove ecosystem in India, after the Sunderbans is

A) Bhitarkanika in Odisha  

B) Vembanad in Kerala

C) Pichavaram in Tamil Nadu 

d) Kaveri delta in Tamil Nadu

10. Central Institute for Horticulture is located at

A) Jammu and Kashmir   B) Assam

C) Sikkim   d) Nagaland

11. Identify the correct ascending sequence in terms of area under paddy cultivation in 

Kerala from among the following. 

A) Palakkad, Alappuzha, Thrissur, Kottayam 

B) Alappuzha, Kottayam, Thrissur, Palakkad

C) Kottayam, Thrissur, Alappuzha, Palakkad

d) Thrissur, Kottayam, Alappuzha, Palakkad

12. Which State in India was most affected by the cyclone, Biparjoy ?

A) Gujarat   B) maharashtra 

C) Goa   d) Karnataka

13. Which of the following statement is/are correct about Indian Planning ?

i. Instead of Five year Plan, there was a “Plan Holiday” and were only Annual Plans 

in India during the period 1966-69.

ii. The Fifth Five year Plan was terminated in its Fourth year in 1978 due to change in 

Government at the Centre.

iii. The Eighth Five year Plan could not take off in 1990 and started only in 1992.

A) Only i and ii   B) Only ii and iii

C) All of the above i, ii and iii d) Only i and iii
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9. yOÎ¡m¢ Wu]îL¤ CÍ|p]Rs JãvOU vs]p Wº¤¨LaOWtORa BvLyv|vò

A) Kc}xp]Rs n]fL¡We]W 

B) SWqt¾]Rs SvÒjLaV

C) fo]uVjLŸ]Rs k]ÞÿLvqU 

d) fo]uVjLŸ]Rs WLSvq] Rc¤ã

10. Ry¢Na¤ C¢ð]ã|PŸV SlL¡ SzL¡Ÿ]W¥Þÿ¡ ò]f]RÞáOÐfV

A) ^ÚO B£V WLwÜ}¡  B) AyU

C) y]¨]U  d) jLYLsL¢cV

11. SWqt¾]¤ Rj¤WQx] RÞáOÐ òs¾]R£ v]ñQf]pORa Aa]òLj¾]¤ wq]pLp 

BSqLzeNWoU fLRu krpOÐvp]¤ j]ÐV f]q]Þÿr]pOW. 

A) kLs¨LaV, BsÕOu, fQêP¡, SWLŸpU 

B) BsÕOu, SWLŸpU, fQêP¡, kLs¨LaV

C) SWLŸpU, fQêP¡, BsÕOu, kLs¨LaV

d) fQêP¡, SWLŸpU, BsÕOu, kLs¨LaV

12. CÍ|p]¤ JfV yUòLj¾LeV ÞOus]¨LãV, m]k¡S^LpV JãvOU WPaOf¤ mLi]ÞÿfV ?

A) YO^rL¾V  B) ozLqLNì 

C) SYLv  d) W¡eLaW

13. CÍ|¢ ByPNfeR¾¨Or]ÞÿV fLRu krpOÐ NkñLvjWt]¤ JfLeV wq] ?

i. kµvÃq kÈf]̈ V kWqU,1966-69 WLsptv]¤ CÍ|p]¤ ""kæL¢ SzLt]Sc'' Bp]qOÐO, 

vL¡x]W kÈf]W¥ oLNfoLeV DºLp]qOÐfV.

ii. SWNÎ¾]Rs y¡¨L¡ oLãU WLqeU 1978&¤ AµLU kµvÃq kÈf] Af]R£ jLsLU 

v¡x¾]¤ AvyLj]ÞÿO.

iii. IŸLU kµvÃq kÈf] 1990&¤ BqUn]¨L¢ Wu]î]sæ, 1992&¤ oLNfoLeV BqUn]ÞÿfV.

A) Only i and ii   B) Only ii and iii

C) All of the above i, ii and iii d) Only i and iii
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14. Which of the following statement is/are correct about NITI Aayog ?

i. dmEO and NIlERd are the two attached/autonomous bodies comes under NITI 

Aayog.

ii. The President of India serves as the Ex-officio Chairperson of NITI Aayog.

iii. The main objective of NITI Aayog is to foster cooperative federalism and enhance 

the involvement of States in policy making.

A) Only ii and iii   B) Only i and ii

C) All of the above i, ii and iii d) Only i and iii

15. Which of the following statements is/are correct about Green Revolution ?

i. Green Revolution has helped the country in attaining self sufficiency in food 

grains.

ii. High yielding variety seeds were one of the most important component of Green 

Revolution.

iii. Gregor mendel is considered as the “Father of Green Revolution”.

A) Only ii and iii   B) Only i and ii

C) All of the above i, ii and iii d) Only i and iii

16. Which of the following statement is/are correct about GST ?

i. Integrated GST (IGST) is applicable to exports and imports in India.

ii. In the GST system Input Tax Credit can be availed for purchases of goods and 

services used for business purposes.

iii. GST was implemented in India in the year 2017.

A) Only ii and iii   B) Only i and ii

C) All of the above i, ii and iii  d) Only i and iii

17. Which of the following statement is/are correct ?

i. The first phase of the Pradhan Mantri Jan Dhan Yojana aimed to provide access to 

banking facilities to all households in India.

ii. Securities and Exchange Board of India (SEBI) issues and regulates the guidelines 

for the Know your Customer (KyC) norms in India.

iii. EXIM Bank provides financial assistance to promote foreign trade of India.

A) Only i and ii   B) Only ii and iii

C) All of the above i, ii and iii d) Only i and iii
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14. j}f] BSpLY]Rj¨Or]ÞÿOç Cj]ÕrpOÐ NkñLvjWt]¤ JfLeV wq] ?

i. dmEO pOU NIlERd DU j}f] BSpLY]jV W}u]¤ vqOÐ qºV AãLÞÿVcV/y~pUnqe   
òLkj°tLeV.

ii. CÍ|¢ qLNìkf] j}f] BSpLY]R£ IWõV&Kl}Sx|L RÞp¡SkuVyeLp] Nkv¡¾]¨OÐO.

iii. yzWqe Rlcrs]yU vt¡¾]RpaO¨OWpOU jpqPk}Wqe¾]¤ yUòLj°tORa 
kËLt]¾U v¡È]Õ]¨OWpOU RÞáOW IÐfLeV j}f] BSpLY]R£ NkiLj sƒ|U.

A) Only ii and iii   B) Only i and ii

C) All of the above i, ii and iii d) Only i and iii

15. zq]f v]kævR¾¨Or]ÞÿV fLRu krpOÐ NkñLvjWt]¤ JfLeV wq] ?

i. nƒ|iLj|°t]¤ y~pUkq|LkÅf RRWvq]¨L¢ zq]f v]kævU qL^|R¾ yzLp]Þÿ]ŸOºV.

ii. Dp¡Ð v]tvV j¤WOÐ CjU v]¾OW¥ zq]fv]kæv¾]£ JãvOU NkiLjRÕŸ ZaW°t] 

RsLÐLp]qOÐO.

iii. NY]Y¡ Ro¢cs]Rj ""zq]f v]kæv¾]R£ k]fLvV '' Bp] We¨L¨OÐO.

A) Only ii and iii   B) Only i and ii

C) All of the above i, ii and iii d) Only i and iii

16. GSTRp¨Or]ÞÿOç Cj]ÕrpOÐ NkñLvjWt]¤ JfLeV wq] ?

i. CÍ|p]Rs WpãOof]¨OU Cr¨Oof]¨OU yUSpL^]f GST (IGST) mLiWoLeV.

ii. GST yUv]iLj¾]¤ m]y]jyV Bvw|°¥¨Lp] DkSpLY]¨OÐ yLij°tORapOU 

Syvj°tORapOU vL°sOW¥ V̈ C¢kOŸV aLWõV RNWc]ãV sn]¨OU.

iii. 2017&sLeV CÍ|p]¤ GST jaÕ]sL¨]pfV. 

A) Only ii and iii   B) Only i and ii

C) All of the above i, ii and iii  d) Only i and iii

17. fLRu krpOÐ NkñLvjWt]¤ JfLeV wq] ?
i. CÍ|p]Rs IsæL v}aOW¥¨OU mLË]UYV yTWq|°¥ sn|oL¨OW IÐfLeV NkiL¢oNÍ]  

^¢ i¢ SpL^jpORa Bh| ZŸU sƒ|o]aOÐfV.

ii. CÍ|p]Rs RyW|Pq]ã}yV B¢cV IWõVSÞµV SmL¡cV KLlV CÍ| (SEBI) j]°tORa DkSnL©L 
v]Rj Ar]pOW (KyC) oLjh¼°¥¨LpOç oL¡«j]¡SÇw°¥ kOrRÕaOv]¨OWpOU 

 j]pNÍ]¨OWpOU RÞáOÐO.

iii. CÍ|pORa v]Shwv|LkLqU SNkLÃLz]Õ]¨OÐf]jV IWõ]UmLËV yLÒ¾]W yzLpU 
j¤WOÐO.

A) Only i and ii   B) Only ii and iii

C) All of the above i, ii and iii d) Only i and iii
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18. Which of the following statement is/are correct about merger of Public Sector Banks 

in 2021 ?

i. The above mentioned merger has not affected Indian Overseas Bank, UCO Bank, 

Punjab and Sind Bank and Bank of maharashtra.

ii. Andhra Bank and Corporation Bank merged with Canara Bank in 2021.

iii. The merger of dena Bank and Vijaya Bank with Bank of Baroda was a part of this 

merger process in 2021.

A) Only i   B) Only ii

C) Only i and iii   d) Only ii and iii

19. Which one of the following statements are correct as per the Constitution of India ?

Every Judge of a High Court shall be appointed by the President by warrant under 
his hand and seal after :

i. Consultation with the Chief Justice of India.
ii. Consultation with the Governor of the State concerned.
iii. Consultation with the Chief Justice of the State concerned.
iv. Consultation with the Chief minister of the State concerned.
A) Only i and ii   B) Only i and iii
C) Only ii and iv   d) Only i, ii and iii

20. Consider the following statements.

Statement 1 :

No discussion shall take place in the legislature of a State with respect to the 
conduct of any Judge of the Supreme Court or of a High Court in the discharge of 
his duties.

Statement 2 :

The validity of any proceedings in the legislature of a State shall not be called 
in question before the Courts on the ground of any alleged irregularity of the 
procedure.

Which of the statements given above is/are correct ?
A) 1 only   B) 2 only
C) Both 1 and 2    d) Neither 1 nor 2

21. Which of the following objectives are not embodied in the Preamble to the 
Constitution of India ?
1. Unity of the Nation
2. Secede from the Union
3. Integrity of the Nation
A) 1 only   B) 2 only
C) 3 only   d) None of the above
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18. 2021&¤ RkLfOSoXsL mLËOWtORa spjR¾¨Or]ÞÿOç Cj]ÕrpOÐ NkñLvjWt]¤  
JfLeV wq] ?

i. oOWt]¤ yPÞ]Õ]Þÿ spjU CÍ|¢ KLv¡y}yV mLËV, pPS¨L mLËV, kµLmV B¢cV y]ÌV 
mLËV, mLËV KLlV ozLqLNì IÐ]vRp mLi]Þÿ]Ÿ]sæ.

ii. BNÌL mLËOU SWL¡ÕSrx¢ mLËOU 2021&¤ WLjr mLË]¤ sp]ÞÿO.

iii. Shj mLËOU v]^p mLËOU mLËV KLlV mSrLcpOoLp] sp]ÞÿfV 2021&¤ CT spj NkNW]
ppORa nLYoLp]qOÐO.

A) Only i   B) Only ii

C) Only i and iii   d) Only ii and iii

19. CÍ|¢ nqeZaj NkWLqU fLRu krpOÐ NkñLvjWt]¤ JfLeV wq] ? 
CÍ|p]Rs RRzS¨Laf] ^cV̂ ]oLRq qLNìkf] j]po]¨OÐfV

i. yONk}U SWLaf] \}lV ^ð}yOoLp] WPa]pLSsL\j ja¾]p SwxU.
ii. mÌRÕŸ yUòLj Yv¡erOoLp] WPa]pLSsL\j ja¾]p SwxU.
iii. mÌRÕŸ yUòLj RRzS¨Laf] \}lV ^ð]yOoLp] WPa]pLSsL\j ja¾]p SwxU.
iv. mÌRÕŸ yUòLj oOX|oNÍ]pOoLp] WPa]pLSsL\j ja¾]p SwxU.
A) Only i and ii   B) Only i and iii
C) Only ii and iv  d) Only i, ii and iii

20. fLRu krpOÐ NkñLvjW¥ kq]SwLi]¨OW.

  NkñLvj 1 :

  yONk}U SWLaf]p]SsL, RRzS¨Laf]p]SsL Dç JRfË]sOU ̂ cV̂ ]pORa W¡¾v| j]¡vÿz 
evOoLp] mÌRÕŸV KqO yUòLj j]poynp]sOU KqO \¡\ÿpOU ja¾L¢ kLa]sæ.

NkñLvj  2 :

  jaka]NWo°t]Rs JRfË]sOU NWoS¨a]R£ Skq]¤ yUòLj j]poynWt]¤ ja¨OÐ 
jaka]WtORa yLiOf SWLaf]W¥ V̈ oOÒLRW S\Lh|U R\áL¢ kLa]sæ.

  oOWt]¤ j¤W]p]q]¨OÐ NkñLvjWt]¤ wq]pLpv f]qR´aO¨OW.
A) 1 only   B) 2 only
C) Both 1 and 2    d) Neither 1 nor 2

21. CÍ|¢ nqeZajpORa BoOX¾]¤ D¥RÕaO¾]p]Ÿ]sæL¾ sƒ|°¥ JRfsæLU ?

1. qLNì¾]R£ RIW|U

2. pPe]pj]¤ j]ÐV yUòLj°tORa Sv¡k]q]p¤

3. qLNì¾]R£ AX¼f

A) 1 only   B) 2 only

C) 3 only   d) None of the above
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22. Which of the following Amendment made the Right to Education a Fundamental Right ?

A) 44th Constitutional Amendment Act 

B) 86th Constitutional Amendment Act

C) 96th Constitutional Amendment Act 

d) 102nd Constitutional Amendment Act

23. Which of the following statements are correct about the Emergency provisions of 

the Constitution of India ?

i. If the President is satisfied that a grave emergency situation exists whereby the 

security of India or of any part of the territory thereof is threatened, make a declaration 

to that effect.

ii. The President shall not issue such a proclamation unless the decision of the Union 

Cabinet that such a proclamation may be issued has been communicated to him in 

writing.

iii. Every emergency proclamation issued by the President under Article 352 shall be 

laid before each House of Parliament and shall cease to operate at the expiration 

of six months unless before the expiration of that period it has been approved by 

resolutions of both Houses of Parliament.

A) Only i and ii   B) Only ii and iii

C) Only i and iii   d) All the above

24. Which of the following statement(s) is/are not correct about the Constituent Assembly 

of India ?

i. dr. Sachidananda Sinha was appointed as the temporary Chairman of the Constituent 

Assembly on december 9, 1946.

ii. Jawaharlal Nehru moved the Objective Resolution in the Constituent Assembly on 

december 11, 1946.

iii. On 29 August 1947, the Constituent Assembly had set up a drafting Committee 

under the Chairmanship of dr. B. R. Ambedkar.

A) Only i and ii   B) Only ii and iii

C) Only ii   d) Only iii
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22. fLRu krpOÐvp]¤ JfV nqeZajL SnhYf]pLeV v]h|Ln|Ly AvWLwR¾ oTs]WL 
vWLwoL¨] oLã]pfV ?
A) 44th nqeZajL SnhYf] j]poU 
B) 86th nqeZajL SnhYf] j]poU
C) 96th nqeZajL SnhYf] j]poU 

d) 102nd nqeZajL SnhYf] j]poU

23. CÍ|¢ nqeZajp]Rs Aa]pÍ]qLvòL NkX|Lkj v|vòWRt¨Or]\ÿV fLRu 

krpOÐ NkñLvjWt]¤ JfLeV wq] ?

i. CÍ|pORa RoL¾oLSpL, JRfË]sOU NkShw¾]S£SpL yOqƒàV n}xe] DºL¨OÐ 

YOqOfqoLp yLz\q|U j]sj]¤¨OÐfLp] qLNìkf]¨V SmLi|RÕŸL¤, 

A¾qRoLqO n}xe]Rp Sjq]aLjLp] ASÇzU qL^|¾V Aa]pÍ]qLvò 

NkX|Lk]¨OW.

ii. Aa]pÍ]qLvòL NkX|LkjU ja¾OÐf]jLp] SWNÎ oNÍ]ynpORa f}qOoLjU 

SqXLoPsU ASÇzR¾ Ar]p]\ÿ]Ÿ]RsæË]¤ qLNìkf] A¾qRoLqO NkX|LkjU 

kOrRÕaOv]¨L¢ kLa]sæ.

iii. B¡Ÿ]¨]¥ 352 NkWLqU qLNìkf] kOrRÕaOv]¨OÐ KLSqL Aa]pÍ]qLvòL 

NkX|LkjvOU kL¡sRo£]R£ CqO ynWtOSapOU AUY}WLq¾]jLp] ynW¥¨V 

oOÒLRW vSàºfLeV. WPaLRf BrV oLy¾]jV SwxU kL¡sRo£]R£ CqO 

ynWtORapOU AUY}WLqU NkX|Lkj¾]jV sn]\ÿ]sæLRpË]¤ qLNìkf]pORa Aa]

pÍ]qLvòL NkX|LkjU j]¡¾sLWOÐfLeV.

A) Only i and ii   B) Only ii and iii

C) Only i and iii   d) All the above

24. CÍ|¢ nqeZajL j]¡ÚLe yo]f]Rp¨Or]\ÿV fLRuÕrpOÐ NkñLvjWt]¤ wq]

psæL¾fV JfV ?

i. 1946 c]yUm¡ 9&jV ScL. y\ÿ]hLjÎ y]¢zRp nqeZajL j]¡ÚLe yo]f]pORa 
fL¤¨Ls]W R\p¡oLjLp] j]po]\ÿO. 

ii. 1946 c]yUm¡ 11&jV  ̂ vz¡ sL¤ RjzVrO nqeZajL j]¡ÚLeyo]f]p]¤ sƒ| 
NkSopU Avfq]Õ]\ÿO.

iii. 1947 KLYðV 29&jV nqeZajL j]¡ÚLe yo]f] ScL. m]. B¡. AUSmhVWrORa 
Ai|ƒfp]¤ KqO NcLlVã]UYV WÚ]ã] qPk}Wq]\ÿO.

A) Only i and ii   B) Only ii and iii

C) Only ii   d) Only iii



83/25 – M 

a -12- 

 25. Which one of the following subjects come under the Concurrent list in the Seventh 
Schedule of the Constitution of India ?

 i. Fisheries
 ii. Tolls
 iii. Electricity
 iv. Public health
 A) Only i and ii   B) Only ii
 C) Only iii   d) Only iii and iv

 26. Which of the following statements are correct about the Constitution of India ?

 i. Relations between the Union and the States are given in Part XI of the Constitution.

 ii. Provisions related to services under the Union and the States are given in Part XIV 

of the Constitution.

 iii. Special Provisions relating to certain classes are given in Part XVI of the Constitution.

 A) Only i and ii   B) Only ii and iii

 C) Only i and iii   d) All the above i, ii and iii

 27. Which of the following statements are correct about the composition of the Kerala 

State Human Rights Commission ?

 i. Chairperson of the Commission should be a person who has been a Chief Justice 

or a Judge of a High Court.

 ii. One member should be a person who is or has been a Judge of a High Court, or a 

district Judge in the State with a minimum of seven years experience as district Judge.

 iii. The Governor of Kerala has appointed the first Human Rights Commission consisting 

of Justice J. B. Koshy as Chairperson and dr. S. Balaraman and Shri T. K. Wilson 

as members in 1998.

 A) i and ii only   B) i and iii only

 C) ii and iii only   d) All the above i, ii and iii

 28. Under which Article of the Constitution of India the Supreme Court declared the Right 
to Information as Fundamental Right ?

 A) Article 19 (1) (a)   B) Article 19 (1) (b)
 C) Article 19 (1) (c)   d) Article 19 (1) (d)
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25. CÍ|¢ nqeZajpORa JuLU Rxc|Pt]Rs W¦Wr£V s]ð]¤ D¥RÕaOÐ v]xp°¥ 

JRfsæLU ?

i. oÃ|mÌjU

ii. SaL¥

iii. RRvh|Of]

iv. RkLfO^jLSqLY|U

A) Only i and ii   B) Only ii

C) Only iii   d) Only iii and iv

26. CÍ|¢ nqeZajRp¨Or]\ÿV fLRu krpOÐ NkñLvjWt]¤ JfLeV wq] ?

i. pPe]pjOU yUòLj°tOU fÚ]sOç mÌ°¥ nqeZajpORa nLYU XI&¤ 

Nkf]kLh]\ÿ]q]¨OÐO.

ii. pPe]pjOU yUòLj°tOU W}u]sOç Syvj°tOoLp] mÌRÕŸ v|vòW¥ 

nqeZajpORa nLYU XIV&¤ Nkf]kLh]\ÿ]q]¨OÐO. 

iii. \]s v]nLY°tOoLp] mÌRÕŸ NkSf|W v|vòW¥ nqeZajpORa nLYU  

XVI&¤ Nkf]kLh]\ÿ]q]¨OÐO. 

A) Only i and ii   B) Only ii and iii

C) Only i and iii   d) All the above i, ii and iii

27. SWqt yUòLj ojOx|LvWLw WÚ}xR£ ZajRp¨Or]\ÿV fLRu krpOÐ NkñLvj 

Wt]¤ wq]SpfV ?

i. WÚ}xR£ Ai|ƒ¢ KqO RRzS¨Laf] \}lV ̂ ð]SôL, ̂ cV̂ ]SpL Bp]qOÐ v|©]

pLp]q]¨eU.

ii. oRãLqO AUYU j]sv]¤ KqO RRzS¨Laf] ^cV^]SpL, RRzS¨Laf] ^cV^] Bp] 

qOÐSfL Bp v|©]pLp]q]¨eU. AfRsæË]¤ ^]sæL ^cV^]pLp] WOr´fV JuV 

v¡xU Nkv¡¾]\ÿ]ŸOç yUòLjR¾ KqO ^]sæL ^cV^]pLp]q]¨eU.

iii. ^ð]yV R^. m]. SWLw] R\p¡SkuVyeLpOU, ScL. IyV. msqLo¢, è}. a]. RW. 
v]¤y¦ IÐ]v¡ AUY°tLpOoOç Bh|R¾ ojOx|LvWLw WÚ}xRj 1998&¤ 
SWqt Yv¡e¡ j]po]\ÿO. 

A) i and ii only   B) i and iii only

C) ii and iii only   d) All the above i, ii and iii

28. CÍ|¢ nqeZajpORa JfV B¡Ÿ]¨]¥ NkWLqoLeV yONk}U SWLaf] v]vqLvWLwU 

oTs]WLvWLwoLp] NkX|Lk]\ÿfV ?

A) Article 19 (1) (a)   B) Article 19 (1) (b)

C) Article 19 (1) (c)   d) Article 19 (1) (d)
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29. Which among the following is/are the Scheme(s) implemented by the Government 

of Kerala for the welfare of women ?

i. Abhayakiranam

ii. Padavukal

iii. Snehasparsham

iv. Aswasanidhi

A) Only i and ii   B) Only ii and iii

C) Only i and iv   d) All the above i, ii, iii and iv

30. Which of the following statements are correct about the introduction of decentralization 

in Kerala ?

i. E. m. S. Namboodiripad chaired the Administrative Reforms Committee in 1957 for 

the newly formed State of Kerala.

ii. K. Sasidharan Nair Commission was constituted in 1996 to study and recommend 

changes to strengthen local governance in Kerala.

iii. “People’s Plan Campaign” was introduced on August 17, 1996 with the objective of 

strengthening lSGs in the State.

A) Only i and ii   B) Only ii and iii

C) Only i and iii   d) All the above i, ii and iii

31. What were the major recommendations of the Narendran Commission appointed 

by the Government of Kerala in February 2000 ?

i. Implementation of special recruitment campaigns to remove backlogs and ensure 

equal rights for all sections of society.

ii. Introduction of 10% reservation for Economically Weaker Sections (EWS) in 

educational institutions and government jobs.

iii. Ensure that reservations are implemented effectively to achieve representation of 

Backward Classes in proportion to their population.

A) Only i and ii   B) Only ii and iii

C) Only i and iii   d) All the above i, ii and iii
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29. fLRuÕrpOÐvp]¤ JfLeV Nñ}WtORa Sƒo¾]jLp] SWqt y¡¨L¡ jaÕ]sL¨]p 
kÈf]W¥ ?

i. AnpW]qeU

ii. kavOW¥

iii. SyÔzy×¡wU

iv. Bw~Lyj]i]

A) Only i and ii   B) Only ii and iii

C) Only i and iv   d) All the above i, ii, iii and iv

30. SWqt¾]Rs Ai]WLq v]SWNÎ}WqevOoLp] mÌRÕŸV fLRuÕrpOÐ NkñLvjWt]¤ 
wq]SpfV ?

i. 1957&¤ qPk}Wq]\ÿ nqekq]ëLq yo]f]pORa Ai|ƒjLp]qOÐO è} C. IU. IyV. 

jÒPf]q]ÕLaV. 

ii. SWqt¾]Rs fSÇwnqeU w©]RÕaO¾OÐf]jOç oLã°¥ kb]¨OÐf]jOU, 

wOkL¡w R\áOÐf]jOoLp] 1996&¤ RW. ww]iq¢ jLp¡ WÚ}x¢ qPk}Wq]\ÿO.

iii. yUòLjR¾ fSÇw y~pUnqe òLkj°Rt w©]RÕaO¾OW (lSGs) IÐ  

sƒ|S¾LRa 1996 KLYðV 17&jV “k}Õ]¥yV kæL¢ WLÒp]¢” BqUn]\ÿO.

A) Only i and ii   B) Only ii and iii

C) Only i and iii   d) All the above i, ii and iii

31. SWqt y¡¨L¡ RlNmOvq] 2000&¤ j]po]\ÿ jSqNÎ¢ WÚ}xR£ NkiLj wOkL¡wW¥ 

IÍLp]qOÐO ? 

i. k]SÐL¨Lvò Ku]vL¨OÐf]jOU yoPz¾]Rs IsæL v]nLY°¥¨OU fOs| 

AvWLw°¥ DrÕL¨OÐf]jOoLp] NkSf|W j]poj WLRÒpVjOW¥ jaÕ]sL¨OW.

ii. v]h|Ln|Ly òLkj°t]sOU y¡¨L¡ S^Ls]Wt]sOU yLÒ¾]WoLp] k]ÐL¨U 

j]¤¨OÐ v]nLY°¥¨V (EWS) 10% yUvqeU J¡RÕaO¾OW.

iii. k]SÐL¨ v]nLY°tORa ^jyUX|L AjOkLf]WoLp] NkLf]j]i|U DrÕ]¨OÐf]jV 

yUvqeU lsNkhoLp] jaÕ]sL¨OW.

A) Only i and ii   B) Only ii and iii

C) Only i and iii  d) All the above i, ii and iii
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32. Name the project launched by the Kerala drugs Control department to prevent 

environmental pollution and health risks by following Biochemical Waste 

management protocols ?

A) KSUdP B) nPROUd C) TRINETRA d) KaWaCHam

33. In order to perceive a sensation, the following conditions are necessary, with the 

exception of 

A) Stimulus strong enough to initiate a response 

B) A receptor to convert the stimulus to an impulse

C) Interpretation of the impulse in the brain   

d) A motor impulse to an effector organ or muscle

34. All fragments of rock ejected into the air by an erupting volcano is termed as

A) lahar B) Pumice C) Tephra d) lava

35. The infectious disease Chicken Pox is also called

A) Variola   B) Vaccinia 

C) Varicella   d) myxovirus

36. A condition in which the liver becomes infused with fibrous tissue and is unable to 

repair itself is known as

A) Hepatitis B) Cirrhosis C) Jaundice d) Hepatoma

37. The mission in Kerala launched with the objective to transform the public health 

sector in the backdrop of the Sustainable development Goals (SdGs) 2030 of the 

United Nations (UN) is

A) Aardram   B) Aarogyakeralam

C) NCd   d) RBSK

38. Each side of a square is measured to be 1.1 m. What is the area of the square in 

appropriate significant figures ?

A) 1.0 m2 B) 1.21 m2 C) 1.2 m2 d) 1.210 m2
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32. mSpLRWo]¨¤ oLs]j| yUØqe SNkLSŸLS¨LtOW¥ kLs]\ÿO RWLºV kq]ò]f] 

os]j}WqevOU, BSqLY| SoXsp]Rs AkWayLi|fWtOU fapOÐf]jLp] SWqt 

NcYVyV W¦SNaL¥ vWOÕV BqUn]\ÿ kÈf]pORa SkqV 

A) KSUdP B) nPROUd C) TRINETRA d) KaWaCHam

33. KqO yUSvhjU NYz]¨OÐf]jV, ________ Ku]RWpOç Cj]ÕrpOÐ v|vòW¥  

Bvw|oLeV. 

A) Nkf]WqeU BqUn]¨L¢ f¨ w©oLp DS¾^jU 

B) DS¾^jR¾ KqO SNkqepL¨] oLãOÐf]jOç KqO r]ykVã¡

C) fsSÞÿLr]Rs SNkqepORa v|LX|LjU 

d) KqO IlWVã¡ Avpv¾]SsS¨L Skw]p]SsS¨L Dç KqO SoLSŸL¡ SNkqe

34. RkLŸ]R¾r]¨OÐ A®]k¡vÿfU vLpOv]Ss V̈ kOrÍçOÐ IsæL kLr¨xe°RtpOU  

________ IÐV v]t]¨OÐO.

A) szL¡ B) k|Po]yV C) RaNl d) sLv

35. Þ]¨¢SkLWõV IÐ kW¡Þÿv|Li]Rp __________ IÐOU v]t]¨OÐO.

A) Svq]SpLt  B) vLWVy]j]p 

C) Svq]Rysæ  d) RRoWVSyLRRvryV

36. Wqt]¤ jLqOWtOç WsW¥ j]rîO j]¤¨OWpOU y~pU jÐL¨L¢ Wu]pLRf vq]WpOU 

RÞáOÐ AvòpLeV

A) RzÕRRãã]yV B) y]SrLy]yV C) oîÕ]¾U d) RzÕSãLo

37. RIW|qLNìynpORa (UN) yOò]q v]Wyj sƒ|°¥ (SdGs) 2030 R£ kéL¾s¾]¤ 

RkLfO^jLSqLY| SoXsRp kq]v¡¾jU RÞáOW IÐ sƒ|S¾LRapLeV SWqt¾]¤ 

CT hTf|U BqUn]ÞÿfV.

A) B¡NhU   B) BSqLY|SWqtU

C) NCd   d) RBSK

38. KqO ÞfOq¾]R£ KLSqL vwvOU 1.1 o}ãrLp] At¨OÐO. DÞ]foLp NkiLj We¨OWt]¤ 

ÞfOq¾]R£ v]ñ}¡¹U IÍLeV ?

A) 1.0 m2 B) 1.21 m2 C) 1.2 m2 d) 1.210 m2
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39. Choose the correct statement(s) :

i. Newton’s laws are directly applicable only in inertial frames.

ii. Newton’s laws are directly applicable only in non-inertial frames.

iii. A bus moving with constant velocity is an example of a non-inertial frame.

iv. A bus moving with constant speed in circular path is an example of a non-inertial 

frame.

A) Only i is correct   B) i and iv are correct

C) ii and iii are correct   d) ii and iv are correct 

40. Zeroth law of thermodynamics refers to

A) Conservation of energy  

B) Change in entropy during reversible process

C) Increase in entropy in irreversible process   

d) Thermal equilibrium

41. The United Nations proclaims 2025 as 

A) International year of Quantum Science and Technology   

B) International year of Basic Sciences for Sustainable development

C) International year of light   

d) International year of Astronomy

42. Graphene, an allotrope of carbon is a

A) One dimensional (1d) material 

B) Two dimensional (2d) material

C) Three dimensional (3d) material 

d) Zero dimensional (0d) material

43. Arrange the following ions in the order of increasing size. 

Al3+, mg2+, F–, N3–

A) Al3+ > mg2+ > F– > N3–   B) N3– > Al3+ > F– > mg2+

C) N3– > F– > mg2+ > Al3+   d) F– > mg2+ > Al3+ > N3–
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39. wq]pLp NkñLvj(W¥) f]qRîaO¨OW.

i. j|PŸR£ j]po°¥ Sjq]ŸV mLiWoLWOÐfV CSj¡x|¤ RNlp]oOWt]¤ oLNfoLeV.

ii. j|PŸR£ j]po°¥ Sjq]ŸV mLiWoLWOÐfV CSj¡x|¤ AsæL¾ RNlp]oOWt]¤ oLNfoLeV.

iii. ò]qoLp NkSvY¾]¤ Þs]¨OÐ KqO myV KqO CSj¡x|¤ AsæL¾ RNlp]o]R£ KqO  
DhLzqeoLeV.

iv. vQ¾LWQf]p]sOç kLfp]¤ ò]qoLp SvYfp]¤ Þs]̈ OÐ KqO myV KqO CSj¡x|¤ 
AsæL¾ RNlp]o]R£ KqO DhLzqeoLeV.

A) Only i is correct   B) i and iv are correct

C) ii and iii are correct   d) ii and iv are correct 

40. Rf¡SoLRRcjLo]Wõ]R£ kP^|U j]poU ________ Rj yPÞ]Õ]¨OÐO.

A) DT¡² yUqƒeU  

B) f]q]ÞÿOv]aLjLvL¾ NkNW]pp]¤ I¢SNaLÕ]p]Rs oLãU

C) f]q]ÞÿOv]aLjLvL¾ NkNW]pp]¤ I¢SNaLÕ]p]Rs v¡ÈjvV  

d) fLkyÍOs]fLvò

41. RIW|qLNìyn 2025 Rj __________ Bp] NkX|Lk]¨OÐO. 

A) AÍLqLNì W~LºU wLNñ yLSËf]W v¡xU   

B) yOò]q v]Wyj¾]jLpOç AÍLqLNì Aa]òLj wLNñ v¡xU

C) AÍLqLNì NkWLw v¡xU   

d) AÍLqLNì S^|Lf]wLNñ v¡xU

42. WL¡me]R£ KqO ASsLSNaLÕLp NYLl}¢ KqO  __________ BeV.

A) JWoLj (1d) khL¡ÀU  

B) h~]oLj (2d) khL¡ÀU

C) Nf]oLj (3d) khL¡ÀU   

d) kP^|U (0d) khL¡ÀU

43. vsOÕU v¡È]¨OÐf]jjOyq]ÞÿV fLRu krpOÐ ASpLeOW¥ NWo}Wq]¨OW. 

Al3+, mg2+, F–, N3–

A) Al3+ > mg2+ > F– > N3–   B) N3– > Al3+ > F– > mg2+

C) N3– > F– > mg2+ > Al3+   d) F– > mg2+ > Al3+ > N3–
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44. Which one of the following alkaloid is present in Tobacco plants ?

A) Nicotine   B) Cocaine 

C) Piperine   d) Atropine

45. 2023 Nobel Prize in Chemistry was awarded for

A) The discovery and synthesis of quantum dots   

B) The development of click chemistry and bio-orthogonal chemistry

C) The development of asymmetric organocatalysis   

d) The development of lithium ion batteries

46. Name the youth player who won the Candidate Chess Tournament in April 2024.

A) R. Praggnanandhaa   B) Vidit Gujrathi

C) d. Gukesh   d) Fabiano Caruana

47. With which ritual art in Kerala is “muchilot Bhagavathi” associated ?

A) Theyyam   B) mudiyettu

C) Patayani   d) Paana

48. What is the name of the famous Bharatanatyam artiste who is the Chancellor of 

“Kerala Kalamandalam” ?

A) Padma Subrahmanyam B) mallika Sarabai

C) Neena Kurup   d) methil devika

49. What is the name of the movie that won Salim Kumar the “National Award for the 

Best Actor” in the year 2010 ?

A) Android Kunjappan   B) Achanurangatha Veedu

C) Karutha Joothan   d) Adaminte makan Abu

50. In which sport is Pankaj Advani a World Champion ?

A) Football   B) Cricket

C) Billiards   d) Javelin throw

51. The remainder obtained when – 5 is divided by 4 is

A) – 1 B) 1 C) 3 d)  – 3
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44. kOWp]s yy|°t]¤ WLeRÕaOÐ B¤¨SsLp]cV JfLeV ?

A) j]S¨LŸ]¢  B) RWLR¨pV¢ 

C) RRkÕr]¢   d) ASNaLk]¢

45. 2023&Rs qyfNÍ¾]jOç SjLm¤ yÚLjU sn]ÞÿfV

A) W~LºU ScLŸOWtORa WRº¾sOU yoj~pvOU   

B) Wæ] V̈ RWo]Ny›]pORapOU mSpL&KL¡S¾LYe¤ RWo]Ny›]pORapOU v]WyjU

C) Ay]RoNa]WV KL¡YLSjLWLãs]y]y]R£ v]WyjU   

d) s]g]pU ASpL¦ mLãr]WtORa v]WyjU

46. 2024 JNk]¤ WL¢c]ScãV RÞyV aP¡eRo£]¤ v]^p]Þÿ pOvfLq¾]R£ SkqV.

A) B¡. Nk®LjÎ  B) v]h]fV YO^rL¾]

C) c]. YOSWxV  d) lLm]pLSjL WqOvLj

47. ""oOÞÿ]SsLŸV nYvf]'' SWqt¾]Rs JfV AjOxVbLj WspOoLp] mÌRÕŸ]q]¨OÐO ?

A) RfáU  B) oOa]SpãV

C) kape]  d) kLj

48. ""SWqt WsLo¼sU'' ÞL¢ysrLp Nkwñ nqfjLa|U WsLWLqR£ SkRqÍLeV ?

A) kÄ yONmùe|U  B) osæ]W yLqLnLpV

C) j}j WOrOÕV   d) Sof]¤ Shv]W

49. 2010&¤ ys]U WOoLr]jV ""o]WÞÿ jajOç Shw}p AvL¡cV '' Sja]R¨LaO¾ y]j]opORa 
SkRqÍLeV ?

A) B¢SNcLp]cV WOîÕ¢ B) A±jOr°L¾ v}aV

C) WrO¾ ^Pf¢  d) BhLo]R£ oW¢ AmO

50. kË V̂ Ah~Lj] JfV WLp]W Cj¾]sLeV SsLW ÞLÒ|¢ ?

A) lOaVSmL¥  B) NW]¨ãV

C) m]s|L¡cVyV  d) ^Lvs]¢ SNfL

51. – 5 Rj 4 RWLºV zq]¨OSÒL¥ sn]¨OÐ w]ìU

A) – 1 B) 1 C) 3 d)  – 3
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52. What percentage of three metric tonnes in sixty quintals ?

A) 100% B) 150% C) 250% d) 200%

53. The fourth proportional to 5, 8, 15 is

A) 20 B) 24 C) 30 d) 36

54. A and B can do a job together  in 7 days. A is 1
3
4

 times efficient as B. Same job can 

be done by A alone is 

A) 11 days   B) 9 days 

C) 12
1
4

 days  d) 16
1
3

 days

55. A is 20 meter west of B, C is 30 meter north of B, d is 10 meter east of C. Then 

distance from A to d is

A) 10 m   B) 20 2 m 

C) 30 2 m   d) 10 2 m

56. Average of reciprocal of x and y is

A)
x y
xy
+

B) 
xy

x y+ C) 
2xy
x y+

d)
x y

xy
+

2

57. mr. X facing East. He turns 110° in the clockwise direction and then he turns 155° 

in the anticlockwise direction. Which direction is he facing now ?

A) East B) North C) North-East d) South-West

58. If 30 – 10 = 300, 7 ÷ 4 = 11 and 9 × 3 = 6, then 50 – 20 × 100 ÷ 10 is

A) 910 B) 1000 C) 900 d) 1010

59. If SUmmER is coded as RUNNER, then WINTER is coded as

A) SUITER B) VIOUER C) SUFFER d) WAlKER

60. By looking a mirror, it appears quarter to eight, what is the actual time ?

A) 4.15 B) 3.15 C) 4.45 d) 3.45
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52. oPÐV RoNa]WV a¹]R£ INf wfoLjU ArOkfV W~]£s]¤ vqOU ?

A) 100% B) 150% C) 250% d) 200%

53. 5, 8, 15 IÐ]vpORa jLsLoR¾ AjOkLfU BeV

A) 20 B) 24 C) 30 d) 36

54. A pOU B pOU SÞ¡ÐV KqO S^Ls] 7 h]vyU RWLºV RÞpÅO f}¡¨OU. A àV B pORa 1
3
4

 oa°V

WLq|ƒofpOºV. ASf S^Ls] A àV oLNfU INf h]vyU RWLºV RÞáL¢ Wu]pOU ?

A) 11 h]vyU  B) 9 h]vyU 

C) 12
1
4

h]vyU   d) 16
1
3

h]vyU

55. A IÐfV B p]¤ j]ÐV 20 o}ã¡ ka]îLrOU, C IÐfV B p]¤ j]ÐV 30 o}ã¡ va¨OU, 

  d IÐfV C p]¤ j]ÐV 10 o}ã¡ W]u ÖoLeV. ASÕL¥ A p]¤ j]ÐV d p]Ss Öç hPqU INf ? 

A) 10 m   B) 20 2 m 

C) 30 2 m   d) 10 2 m

56. x, y IÐ]vpORa kqy×q kPqW¾]R£ wqLwq]

A)
x y
xy
+

B) 
xy

x y+ C) 
2xy
x y+

d)
x y

xy
+

2

57. o]ð¡ X W]uS¨LŸV An]oOXoLp] j]¤¨OÐO. Av¢ Za]WLq h]wp]¤ 110° f]q]îV  

If]¡ Za]WLqh]wp]¤ 155° f]q]pOÐO. CSÕL¥ Av¢ JfV h]wp]Ss¨LeV An]oOX}

Wq]¨OÐfV ?

A) W]u V̈ B) va V̈ C) va V̈&W]u V̈ d) Rf V̈&ka]îLrV

58. 30 – 10 = 300, 7 ÷ 4 = 11, 9 × 3 = 6, BReË]¤ 50 – 20 × 100 ÷ 10 IÐfV

A) 910 B) 1000 C) 900 d) 1010

59. SUmmER IÐfV RUNNER Bp] SWLcV RÞpÅ]ŸORºË]¤, WINTER IÐfV __________
Bp] SWLcV RÞáOU.

A) SUITER B) VIOUER C) SUFFER d) WAlKER

60. W¹La]p]¤ SjL¨]pL¤ 8 oe] BWL¢ 15 o]j]ãV yopU IÐV SfLÐOÐO, pgL¡À 
yopU INfpLeV ?
A) 4.15 B) 3.15 C) 4.45 d) 3.45
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 61. Fill in the blanks with suitable article.
  ________ university in which she is studying is one of the best universities in the world. 
 A) the B) a C) an d) no article

 62. Find out the correct answer from the following sentences.
 A) One of the student in the class scores full marks.   
 B) One of the students in the class scores full marks.
 C) One of the students in the class score full marks.   
 d) One of the student in the class score full marks.

 63. Choose the correct question tag from the following. 
 A) No one has attended the meeting, hasn’t they ?   
 B) Let’s go for a film, shouldn’t we ?
 C) Get out, will you ?   
 d) She seldom attended the meeting, didn’t she ?

 64. Which is the correct passive voice of the sentence Ram is eating a mango ?
 A) A mango is eaten by Ram B) A mango was eaten by Ram
 C) A mango is being eaten by Ram d) A mango was being eaten by Ram

 65. Fill in the blanks with correct phrasal verb of the word given in the bracket. 
  The meeting was ______ (cancelled) because of some personal issues of the 

manager.
 A) Called off B) Called out C) Called up d) Called on

 66. Choose the correct antonym of the word ‘luminous’.

 A) Shiny B) dark C) diminish d) Retract

 67. Choose the word with correct spelling.

 A) Seperate B) Tortioise C) Collage d) Plaigiarism

 68. Fill in the blanks with suitable modal verb.
  Policemen ______ wear Khaki.

 A) will B) can C) shall d) must

 69. Fill in the blanks with suitable idiom from the following.
  The announcer announces that it is time to _______ the programme.

 A) wrap up   B) take sides 

 C) get cold feet   d) butter someone up

 70. Fill in the blanks using correct preposition.
  The boutique is situated ______ the city centre.

 A) on B) by C) for d) at
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 71. NzhU IÐ vL¨]jV yoLjkhU WRº¾OW.

 A) j]rU B) os C) WpU d) NknLfU 

 72. fLRu krpOÐf]¤ wq]pLp qPkSofV ?

 A) DSkLhVmsWU   B) DSkL¤msWU

 C) DSkLfVmsWU   d) DSkLsVmsWU

 73. Conciliation IÐ kh¾]R£ WQf|oLp v]v¡¾jSofV ? 

 A) AjOqÆjU   B) yËs×jU

 C) kP¡¾}WqeU   d) ByPNfeU

 74. fLRuR¨LaO¾]q]¨OÐvp]¤ wq]pLp NkñLvjSpfV ?

 A) Bwp°tL¤ BwLR£ YzjoLp Wv]f yÒOìoLeV.

 B) Bwp°tL¤ yÒOìoLeV YzjoLp BwLR£ Wv]f.

 C) BwLR£ Wv]f YzjoLp Bwp°tL¤ yÒOìoLeV.

 d) BwLR£ YzjoLp Bwp°tL¤ Wv]f yÒOìoLeV.

 75. oLaÒ] IÐf]R£ If]¡s]UYSofV ?

 A) CRsæLaÚ B) RWŸ]sÚ C) INÒLŸ] d) k]xLqy|L¡

 76. Bk¾]Rs RRiq|U IÐ¡ÀoOç wq]pLp khSofV ?

 A) v]kf]RRiq|U B) v]ki]RRiq|U C) v]khRRiq|U d) v]kh]RRiq|U

 77. "KÐ]RjpOU vWRvàL¾v¢' IÐ A¡ÀU vqOÐ RRws]SpfV ?

 A) AuW]p qLve¢   B) kLxLe¾]¤ WQo] 

 C) WOµ]qLo¢   d) KãÕPqLa¢

 78. Rv½ IÐ khU k]q]R\ÿuOfOW.

 A) Rv¦ + o B) Rv¹V + o C) RvtV + o d) RvçV + o 

 79. j]u¤pOÈRoÐ khR¾ v]kOs}Wq]¨OSÒL¥ W]ŸOÐSffV ?

 A) j]us]sOç pOÈU   B) j]us]SjLaOç pOÈU 

 C) j]usLWOÐ pOÈU   d) j]us]R£ pOÈU

 80. WToOh], S^|LÃj IÐ]v Jf]R£ kq|Lpkh°tLeV ?

 A) kPvV  B) ou C) j]sLvV d) nPo]
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 81. ‘CÚmoJ’ _| H$m¡Z-gm CngJ© bJm h¡ ?

 A) CV²   B) CX² 

 C) C   d) CZ

 82. {ZåZ{b{IV _| go H$m¡Z-gm eãX ì`pŠVdmMH$ g§km h¡ ?

 A) _mZd   B) ~MnZ 

 C) nd©V   d) {h_mb`

 83. {ZåZ _| go VX²^d eãX H$m¡Z-gm h¡ ?

 A) AmJ   B) Alw 

 C) H$_b   d) CÁOdb

 84. {ZåZ{b{IV _| go {H$g_| gåàXmZ H$maH$ H$m à`moJ hþAm h¡ ?

 A) no‹S> go nËVm {Jam   

 B) Jmonmb Zo Jar~m| H$mo ^moOZ {X`m

 C) amOy Zo ImZm Im`m   

 d) _¢ Zo nwñVH$ n‹T>r

 85. H$m{b_m eãX _| {H$g àË`` H$m à`moJ hþAm h¡ ?

 A) _m   B) A 

 C) B   d) Am
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 86. AZoH$ N>mÌ {Xëbr Mbo J`o & dmŠ` _| H$m¡Z-gm {deofU h¡ ?

 A) A{ZpíMV n[a_mUdmMH$   

 B) A{ZpíMV g§»`mdmMH$

 C) {ZpíMV g§»`mdmMH$  

 d) {ZpíMV n[a_mUdmMH$

 87. ‘SUBORdINATE’ eãX H$m qhXr nm[a^m{fH$ eãX H$m¡Z-gm h¡ ?

 A) CËVam{YH$mar   B) ghm`H$ 

 C) AYrZñW   d) nmbZH$Vm©

 88. {ZåZ _| ñÌrqbJ eãX H$m¡Z-gm h¡ ?

 A) Xhr   B) Aqhgm 

 C) _m¡Z   d) doJ

 89. BZ_| go {H$g dmŠ` _| AH$_©H$ {H«$`m H$m à`moJ {H$`m J`m h¡ ?

 A) CgZo nwñVH$ n‹T>r   

 B) {H$gmZ \$gb H$a ahm h¡

 C) amYm Q>r.dr. XoIVr h¡   

 d) _µOXÿa Jhar ZtX _| gmo ahm h¡

 90. no‹S> eãX H$m ~hþdMZ Š`m h¡ ?

 A) no‹S>   B) noS>mo 

 C) noS>o   d) noS>m| go
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 91. If a computer has 64KB wordlength then its memory unit has how many memory 
locations ?

 A) 64000   B) 64524 
 C) 65536   d) 66176

 92. Identify the commonly used magnetic Ink Character Recognition (mICR) fonts from 
the list below.

 i. CmC-7 

 ii. Helvetica 

 iii. E-13B 

 iv. Code 39
 A) i and iii only   B) ii only 
 C) iv only   d) ii and iv only

 93. The EBCdIC can represent up to how many different characters ?
 A) 16   B) 256 
 C) 128   d) 32

 94. Which of the following printer uses a physical impact while printing on paper ?
 A) Inkjet Printer   B) laser Printer
 C) dot matrix Printer   d) Thermal Printer

 95. What is the octal equivalent of 255 ?
 A) (377)8   B) (367)8 

 C) (777)8   d) (677)8

 96. What is the use of shortcut key Ctrl+Shift+ > in mS-Word ?
 A) Increase font size   
 B) Applies subscript formatting
 C) decrease font size   
 d) Applies superscript formatting
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 97. Which among the following views in mS-PowerPoint are used for organizing and 

rearranging slides ?

 i. Normal View

 ii. Slide Sorter View

 iii. Reading View

 iv. Slide master View

 A) Only iv   B) Only i and ii 

 C) Only i and iii   d) Only ii and iv

 98. Which of the following function in mS-Excel is used to count cells in a range that 

meets specific criteria ?

 A) COUNTA   B) COUNT 

 C) COUNTBlANK   d) COUNTIF

 99. Which tab in mS-Word 2010 allows you to format text into multiple columns ?

 A) Home   B) Page layout 

 C) Review   d) Insert

 100. Filter in mS-Excel is used for

 i. Calculating formulas

 ii. Extracting data that meets the defined criteria

 iii. Sorting data in ascending/descending order

 iv. Analyzing and managing relevant data

 A) Only i   B) Only iii 

 C) Only ii and iv   d) Only i and iii
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S\Lh|°tORa BRW I¹U : 100 yopU : 90 o]j]ŸV 

  kqoLvi] oL¡¨V  : 100

a

         DSh|LYL¡À]W¥¨Oç j]¡SÇw°¥

1. S\Lh|  WasLôV j¤WOÐfV S\Lh| kOñW qPk¾]sLeV. a, B, c, d IÐ} jLsV Aƒq SWLcOWt]sOç 
S\Lh| kOñW°tLeV j¤WOÐfV.

2. S\Lh| kOñW¾]R£ oOWt]¤ CafV vw¾V NkSf|W SWLt¾]¤ S\Lh|kOñW Aƒq SWLcV Aˆa]̂ ]ŸOºV.

3. KLSqL DSh|LYL¡À]¨OU j¤W]p]ŸOç S\Lh|kOñW Aƒq SWLcV AvqORa kq}ƒL zLt]Rs Cq]Õ]
a¾]¤ SqXRÕaO¾]p]q]¨OU.

4. j]°¥¨jOvh]ˆ]q]¨OÐ Aƒq SWLc]¤ j]ÐOU v|f|ñoLp SWLc]sOç S\Lh|kOñWoLeV 
sn]¨OÐRfË]¤ AfV Daja] C¢v]^]SsãrORa èÈp]¤RÕaOS¾ºfLeV.

5. S\Lh|kOñW NWojÒ¡ kOrU \ŸpORa vsfOvw¾V oOWtã¾Lp] S\¡¾]ŸOºV. NWojÒ¡ CŠL¾  
S\Lh|kOñWoLeV j]°¥ V̈ sn]¨OÐRfË]¤ ASf Aƒq SWLc]sOç S\Lh|kOñWU oLã] vL°OW.

6. S\Lh| kOñWU vsfO oL¡^]j]¤ oÈ|nLY¾Lp] y}¤ R\pÅ]q]¨OU. D¾qRouOfLjOç AjOof]   
sn]ˆLsŠLRf S\Lh| kOñWU fOr¨L¢ kLa]Š.

7. kq}ƒ fOa°]pLsOa¢ DSh|LYL¡À] fj] V̈ sn]ˆ]q]¨OÐ S\Lh| kOñW¾]¤ 100  S\Lh|°tOU NWooLp] 
DSºL IÐV kq]SwLi]S¨ºfLeV. S\Lh| kOñW¾]¤ Aˆa]¨L¾SfL, W}r]pSfL, v]ŸOSkLpSfL 
Bp Sk^OW¥ DºLW]Š; AgvL DRºË]¤ A¨Lq|U C¢v]^]SsãrORa èÈp]¤ RWLºOvq]WpOU 
ASf Aƒq SWLc]sOç kP¡¹oLp S\Lh| kOñWU oLã] vL°OWpOU R\SáºfLeV. CfV JãvOU 
NkiLjRÕŸfLeV.

8. CT S\Lh|SkÕr]Rs 1 oOf¤ 60 vRqpOç S\Lh|°¥ CUYæ}x]sOU KTSh|LY]W nLxp]sOU (ospLtU)
Bp] A\ÿa]\ÿ]q]¨OÐO. CT S\Lh|°tORa A¡ÀU, f¡²o IÐ]v yUmÌ]\ÿ yUwp°¥ V̈ CUYæ}xV 
oLi|o¾]sOç S\Lh|°tLeV BiLqoL¨OÐfV.

9. S\Lh| kOñW¾]R£ AvyLj Sk^]jO RfLŸOoO¢kV KÐOU IuOfL¾ qºV Sk^OW¥ S\¡¾]ŸOºV. CfV 
D¾qU WºOk]a]¨OÐf]jOç  WOr]ÕOW¥¨Lp] DkSpLY]¨LvOÐfLeV.

10. D¾q°¥ SqXRÕaO¾L¢ BqUn]¨OÐf]jV oOÒV D¾q¨asLy]R£ orOkOr¾Oç j]¡SÇw°¥ 
èÈLkP¡‹U vLp]¨OW.

11. wq]pO¾qU D¥RÕRa KLSqL S\Lh|¾]jOU (A), (B), (C), (D) IÐ jLsV D¾q°¥ fÐ]q]¨OU. wq]
pO¾qU RfqR´aO¾V K. IU. B¡. D¾q¨asLy]¤ mÌRÕŸ S\Lh| jÒr]jV SjRqpOç wq]pO¾qU 
yP\]Õ]¨OÐ WOo]t (mm]¥) oLNfU j}sSpL WrOSÕL mL¥ SkLp]£V Skj DkSpLY]ˆV WrOÕ]¨OW.

12. KLSqL wq]pO¾q¾]jOU KqO oL¡¨V sn]¨OWpOU KLSqL RfãO¾q¾]jOU 1/3 oL¡¨V jìoLvOWpOU 
 R\áOU. D¾qU SqXRÕaO¾L¾ S\Lh|°¥¨V oL¡¨V jìoLvOWp]Š.

13. kq}ƒL yopU Wu]pOÐf]jV oOSÒL, D¾q¨asLyV C¢v]̂ ]SsãRr J¤Õ]̈ LRfSpL KqO DSh|LYL¡À]pOU 
kq}ƒLzL¥ v]ŸV kOr¾OSkLWL¢ kLa]Š.

14. j]¡SÇw°¥ W¡wjoLp] kLs]S¨ºfLeV. kq}ƒp]¤ NWoS¨aV ja¾OWSpL Af]jOç èoU 
ja¾OWSpL R\áOÐ DSh|LYL¡À]WRt ASpLY|qLp] NkX|Lk]¨OÐfLeV.
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